

## On relations between additive and multiplicative clustering operators

by

H. ŻOŁĄDEK (Warszawa)

**Abstract.** It is proved that a family  $\mathcal{F}_t$ ,  $t \geq 0$ , of selfadjoint operators defines a one-parameter semigroup of multiplicative clustering operators iff its generator is an additive clustering operator. We show that 0 is not an eigenvalue of a multiplicative clustering operator.

**1. Introduction.** In the recent years there has been isolated a class of operators, called clustering operators [1, 6]. This notion appears in mathematical physics and corresponds to the fact that in a multi-particle system the particles try to group into clusters which do not interact with other clusters at large distances. This leads to the special structure of those operators.

The simplest models where the clustering operators appear are the  $(\nu + 1)$ -dimensional Ising models with discrete and continuous time. The Transfer-matrix  $\mathcal{F}_t$  of these models has a multiplicative clustering structure. This was conjectured by Minlos and Sinai in [9] and proved by Abdulla-Zade, Minlos and Pogosyan in [1] (for  $\nu = 1$ ) and by Malyshev in [4] (for  $\nu \geq 2$ ). The generator  $H$  of the semigroup  $\mathcal{F}_t$  (in the continuous time model) turns out to be an additive clustering operator [7, 8]. Other examples of clustering operators and their basic properties are given in [8].

An additive clustering operator  $H$  defines the Hamiltonian of an infinite-particle system on the integer lattice and a multiplicative clustering operator  $\mathcal{F}$  corresponds to the Transfer-matrix of such a system. Therefore it is natural to expect that: (a)  $e^{-tH}$  is a multiplicative clustering operator and (b)  $\ln \mathcal{F}$  (if it exists) is an additive clustering operator. In the present paper we prove (a) and give one result concerning (b).

The author thanks V. A. Malyshev for valuable discussions.

**2. Results.** Let  $C_{Z^\nu}$  be the set of all finite subsets of the  $\nu$ -dimensional integer lattice  $Z^\nu$ . We consider the Hilbert space

$$\mathcal{H} = l_2(C_{Z^\nu})$$

with orthogonal basis  $(e_T)$ ,  $T \in C_{Z^\nu}$ ,

$$e_T(T') = \delta_{TT'}, \quad T, T' \in C_{Z^\nu}.$$

DEFINITION 2.1. A selfadjoint operator  $\mathcal{T}$  in  $\mathcal{H}$  is called a *multiplicative clustering operator* with (clustering) parameters  $\lambda$  and  $\beta$  if its matrix elements have the following expansion:

$$(2.1) \quad (e_\emptyset, \mathcal{T}e_\emptyset) = 1, \quad (e_T, \mathcal{T}e_{T'}) = \sum_{s \geq 1} \sum_{(L_i, L'_i)} \prod_{i=1}^s \omega(L_i, L'_i), \quad |T| + |T'| > 0,$$

where the summation is over all (unordered) partitions  $\{(L_1, L'_1), \dots, (L_s, L'_s)\}$ ,  $s = 1, 2, \dots$ , of the pair  $(T, T')$  (i.e.  $\bigcup L_i = T$ ,  $\bigcup L'_i = T'$ ,  $L_i \cap L_j = L'_i \cap L'_j = \emptyset$  for  $i \neq j$ ) such that

$$(2.2) \quad L_i \neq \emptyset, \quad L'_i \neq \emptyset, \quad i = 1, \dots, s,$$

and the *clustering functions*  $\omega(L, L') = \omega^{\mathcal{T}}(L, L')$  satisfy:

- (a)  $\omega(L+x, L'+x) = \omega(L, L')$ ,  $x \in \mathbb{Z}^v$ , where  $\{x_1, \dots, x_n\} + x = \{x_1 + x, \dots, x_n + x\}$ .
- (b)  $\omega(L, L) = \overline{\omega(L, L)}$ .
- (c)  $0 \leq \omega(\{0\}, \{0\}) = \lambda \leq 1$  and

$$(2.3) \quad |\omega(L, L)| \leq M\lambda(1-\lambda)\beta^{d_{L \cup L'}} \quad \text{if } |L \cup L'| \geq 2,$$

where  $M > 0$ ,  $0 \leq \beta < 1$  are constants,  $|B|$  denotes the cardinality of the set  $B$  and  $d_B$ ,  $B \subset \mathbb{Z}^v$ , is the minimum length of a tree graph connecting points of  $B$  (the metric in  $\mathbb{Z}^v$  is given by

$$\text{dist}(x_1, x_2) = |x_1 - x_2| = \sum |x_1^{(j)} - x_2^{(j)}|, \quad x_j = (x_j^{(1)}, \dots, x_j^{(v)}), \quad j = 1, 2).$$

We say that a strongly continuous family  $\mathcal{T}_t$ ,  $t \in \mathbb{C}^1$ , of multiplicative clustering operators in  $\mathcal{H}$  defines a *holomorphic group of multiplicative clustering operators* with parameters  $a$  and  $\beta$  if their clustering functions  $\omega_t = \omega^{\mathcal{T}_t}$  satisfy:

$$(2.4) \quad \omega_t(\{0\}, \{0\}) = e^{-at}, \quad a \geq 0, \\ |\omega_t(L, L')| \leq M(t)|t|e^{-a\text{Re}t}\beta^{d_{L \cup L'}} \quad \text{if } |L \cup L'| \geq 2,$$

where  $0 < M(t) < Me^{\delta t}$  for  $t$  from a neighbourhood of the set  $[0, \infty) \subset \mathbb{C}^1$ ; here  $M > 0$ , and  $\delta \geq 0$  is a small constant ( $\delta < a/3$ ).

DEFINITION 2.2. A selfadjoint operator  $H$  in  $\mathcal{H}$  is called an *additive clustering operator* with parameters  $a$  and  $\beta$  if its matrix elements have the following expansion:

$$(2.5) \quad (e_T, He_{T'}) = \sum_{\substack{\emptyset \neq L \subset T \\ \emptyset \neq L' \subset T'}} \omega(L, L'), \quad T, T' \in \mathcal{C}_{\mathbb{Z}^v},$$

where the (clustering) functions  $\omega(L, L') = \omega^H(L, L')$  satisfy:

- (a)  $\omega(L, L') = \omega(L+x, L'+x)$ ,  $x \in \mathbb{Z}^v$ .

$$(b) \quad \omega(L, L) = \overline{\omega(L, L)}.$$

$$(c) \quad \omega(\{0\}, \{0\}) = a \text{ and}$$

$$(2.6) \quad |\omega(L, L')| \leq M\beta^{d_{L \cup L'}} \quad \text{if } |L \cup L'| \geq 2,$$

where  $M > 0$ ,  $a \geq 0$  and  $0 \leq \beta < 1$  are constants.

Remark 2.1. The estimate (2.3) in the definition of a multiplicative clustering operator is slightly weaker than the estimate

$$|\omega(L, L')| \leq M\beta^{d_{L \cup L'(0)}}$$

used in earlier papers [1, 6]. (Here  $L \leq L \times \{0\} \subset \mathbb{Z}^v \times \mathbb{R}^1$  and  $L'(t) = L \times \{t\} \subset \mathbb{Z}^v \times \mathbb{R}^1$ .) Our estimate is more natural for the purposes of this paper. It covers the cases of small  $t$  as well as those of large  $t$ .

The main result of this work is the following:

THEOREM 1. (a) Let  $H$  be an additive clustering operator with parameters  $a$  and  $\beta$ . Then there exists  $\beta_0 = \beta_0(M, a) > 0$  such that for  $0 \leq \beta < \beta_0$  the family  $\mathcal{T}_t = e^{-tH}$ ,  $t \in \mathbb{C}^1$ , defines a holomorphic group of multiplicative clustering operators with parameters  $a$  and  $\beta^{1-\varepsilon}$ , where  $\varepsilon$  is a small constant depending on  $v$  and  $a$ .

(b) Let  $\mathcal{T}_t$ ,  $t \in \mathbb{C}^1$ , be a holomorphic group of multiplicative clustering operators with parameters  $a$  and  $\beta$ . Then the generator  $H$  of the semigroup  $(\mathcal{T}_t)_{t \geq 0}$  is an additive clustering operator with parameters  $a$  and  $\beta$ .

Remark 2.2. The following natural problem arises: can a multiplicative clustering operator  $\mathcal{T}$  be represented as  $e^{-tH}$  for some additive clustering operator  $H$ ? The necessary conditions for this are:

- (i) 0 is not an eigenvalue of  $\mathcal{T}$ .
- (ii)  $\mathcal{T}^t$  is a multiplicative clustering operator for  $0 < t < 1$  ( $t = 1/2$  suffices).

A partial answer to the question whether (i) is satisfied is given in Theorem 2 below. But the second problem, the multiplicativeness of  $\sqrt{\mathcal{T}}$ , remains open. Notice that for the Transfer-matrix of the Ising model in  $\mathbb{Z}^{v+1}$  the first problem is unsolved.

THEOREM 2. Let  $\mathcal{T}$  be a multiplicative clustering operator with parameters  $\lambda$  and  $\beta$ . Then if  $\beta/\lambda$  is sufficiently small then 0 is not an eigenvalue of  $\mathcal{T}$ .

Remark 2.3. V. A. Malyshev and I. A. Kashapov have announced this result, but their proof has not appeared in the literature (see note in [6.II] and also [3]). The invertibility of the Transfer-matrix in the gauge lattice model has been proved by K. Fredenhagen in [2].

3. Proof of Theorem 1(a). Let  $\gamma = ((L_1, L'_1), \dots, (L_k, L'_k))$ ,  $k = k(\gamma)$ , be a finite ordered system of pairs of nonempty subsets of  $\mathbb{Z}^v$ . We call such a

where  $I = \{1, \dots, s_f\}$ , the sum  $\sum'$  is over all ordered systems  $(\Gamma_i, i \in I)$  with  $T(\Gamma_i) = T_i$ ,  $T'(\Gamma_i) = T'_i$  for  $i \in I$ , the sum  $\sum''$  is over all systems  $\Gamma$  such that  $T(\Gamma) \subset T$ ,  $T'(\Gamma) \subset T'$ ,  $T \setminus T(\Gamma) = T' \setminus T'(\Gamma)$ , and the sum  $\sum'''$  is over con-

nected regular  $\Gamma_1, \dots, \Gamma_r$  such that  $\bigcup \Gamma_i = \Gamma$ . Therefore Lemma 3.2 follows from the fact that

$$\sum_i \prod_i D(\Gamma_i) = \begin{cases} 1 & \text{if } \Gamma \text{ is completely regular,} \\ 0 & \text{otherwise,} \end{cases}$$

where the sum is over all  $\Gamma_1, \dots, \Gamma_r$  with  $\bigcup \Gamma_i = \Gamma$  (see [4, 5]).

To finish the proof of Theorem 1(a) we shall prove the estimate (2.4). In order to do this we transform (3.9). Notice that  $D(\Gamma)$  does not change if we replace one bond  $\gamma \in \Gamma$ ,  $\gamma = ((L_1, L_1), \dots, (L_s, L_s))$ , with

$$\gamma' = ((L_1, L_1), \dots, (L_j, L_j), (\{x\}, \{x\}), (L_{j+1}, L_{j+1}), \dots, (L_s, L_s)),$$

where  $x \in (L_{j+1} \cup T(\gamma)) \cap (L_j \cup T'(\gamma))$ ; only  $k(\gamma)$  and  $\prod \omega^H(L, L)$  change in (3.4). Any bond  $\gamma$  with  $|\tilde{\gamma}| > 1$  can be obtained with the help of a sequence of the above operations from a unique bond  $\gamma'$  consisting of pairs  $(L, L)$  such that  $|L \cup L| > 1$ . If  $\tilde{\gamma} = \{x\}$  then  $\gamma = ((\{x\}, \{x\}), \dots, (\{x\}, \{x\}))$  and we say that  $\gamma$  is obtained with the help of the sequence of the above operations from a unique distinguished bond  $\gamma'$  with  $k(\gamma') = 0$  and  $\tilde{\gamma}' = \{x\}$ . For  $\gamma'$  of the above two types we define the numbers  $r_1, \dots, r_{k(\gamma')+1}$ , where  $r_1 = 1$  for distinguished  $\gamma'$ , and for  $\gamma' = ((L_1, L_1), \dots, (L_k, L_k))$ ,  $k = k(\gamma')$ ,

$$r_1 = |T(\gamma')|, \quad r_j = |(L_j \cup T(\gamma')) \cap (L_{j-1} \cup T'(\gamma'))|, \\ j = 2, \dots, k, \quad r_{k+1} = |T'(\gamma')|.$$

Notice that since  $\gamma'$  is a bond

$$(3.11) \quad r_j \geq \max\{|T(\gamma') \cap T'(\gamma')|, 1\}, \quad j = 1, \dots, k+1.$$

Using the above arguments, from (3.4) and (3.9) we get

$$(3.12) \quad \omega_t(T, T') = \delta_{|T \cup T'|, 1} + \sum_{\gamma' \in \Gamma} D(\Gamma) \prod_{(L, L) \in \gamma'} (-t)^{k(\gamma')} \prod_{(L, L) \in \gamma'} \omega^H(L, L) \\ \times \sum_{l_1=0, \dots, l_{k+1}=0}^{\infty} \frac{(-tar_1)^{l_1} \dots (-tar_{k+1})^{l_{k+1}}}{(k+l_1+\dots+l_{k+1})!},$$

where the sum  $\sum'$  extends over all connected systems  $\Gamma = \{\gamma'_1, \dots, \gamma'_m\}$  of distinguished bonds and bonds consisting of pairs  $(L, L)$  with  $|L \cup L| > 1$  such that  $T(\Gamma) = T$ ,  $T'(\Gamma) = T'$ ; here  $k = k(\gamma')$ .

If  $T = T' = \{x\}$  then the above sum is simply

$$\omega_t(\{x\}, \{x\}) = e^{-at}.$$

For other pairs  $(T, T')$  we use the following lemma.

LEMMA 3.3. (a) The following formula is true:

$$(3.13) \quad \sum_{l_1=0, \dots, l_{k+1}=0}^{\infty} \frac{z_1^{l_1} \dots z_{k+1}^{l_{k+1}}}{(k+l_1+\dots+l_{k+1})!} = \sum_{i=1}^{k+1} \frac{e^{z_i}}{\prod_{j \neq i} (z_i - z_j)}.$$

(b) We have the estimate

$$(3.14) \quad |f(t)| = \left| t^k \sum_{i=1}^{k+1} \frac{e^{-atr_i}}{\prod_{j \neq i} at(r_i - r_j)} \right| \\ \leq \begin{cases} (C|t|)^k & \text{for } |at| < 1 \ (t \in \mathbb{C}^1), \\ (C/a)^k e^{-(\min r_i - 1/3)|a| \operatorname{Re} t} & \text{for } \operatorname{Re}(at) \geq 1, \end{cases}$$

where the  $r_i$  are positive integers and  $C > 0$  is an absolute constant independent of  $a, t, k, r_i$ .

I have not found the formula (3.13) in the literature. The proof of this lemma is left to the Appendix.

We return to the estimate of  $\omega_t(T, T')$ . We use the following estimate of  $D(\Gamma)$  proved in [5]:

$$(3.15) \quad |D(\Gamma)| \leq \prod_{\gamma' \in \Gamma} C_1^{d_{\gamma'}} \leq \prod_{\gamma' \in \Gamma} \prod_{(L, L) \in \gamma'} C_1^{d_{L \cup L}},$$

where  $C_1 = C_1(v)$  is an absolute constant. Notice also that

$$(3.16) \quad \sum_{\gamma' \in \Gamma} \sum_{(L, L) \in \gamma'} d_{L \cup L} \geq d_{T \cup T'}, \quad \sum k(\gamma') \geq 1.$$

From (3.11), (3.12) and (3.14)–(3.16) we get

$$|\omega_t(T, T')| \leq \begin{cases} \sum_{\Gamma} \prod_{\gamma'} (C|t|)^k \prod_{(L, L) \in \gamma'} (C_2 \beta)^{d_{L \cup L}} & \text{if } |at| < 1, \\ \sum_{\Gamma} \prod_{\gamma'} e^{-(\min r_i - 1/3) \operatorname{Re}(at)} (C/a)^k \prod_{(L, L) \in \gamma'} (C_2 \beta)^{d_{L \cup L}} & \text{if } \operatorname{Re}(at) \geq 1. \end{cases}$$

As in [6.II, p. 218] one can show that for fixed  $|\Gamma| = m(\Gamma)$  and  $k(\gamma'_i)$ ,  $i = 1, \dots, |\Gamma|$ ,

$$\sum_{\Gamma} \prod_{\gamma'} \prod_{(L, L) \in \gamma'} (C_2 \beta)^{d_{L \cup L}} \leq (C_3 \beta^{1-\varepsilon})^{d_{T \cup T'}} \beta^{\varepsilon \sum k(\gamma')}$$

for some small  $\varepsilon > 0$ . Hence we get the final estimate

$$|\omega_t(T, T')| \leq \begin{cases} \tilde{M} |t| \beta_1^{d_{T \cup T'}} & \text{if } |at| < 1, \\ \tilde{M} e^{-2 \operatorname{Re}(at)/3} \beta_1^{d_{T \cup T'}} & \text{if } \operatorname{Re}(at) \geq 1, \end{cases}$$

where  $\beta_1 = \beta^{1-\varepsilon}$ . This finishes the proof of Theorem 1(a).

**4. Proof of Theorem 1(b).** Let  $\mathcal{T}_t$  be a one-parameter holomorphic group of multiplicative clustering operators with clustering functions obeying the estimate (2.4).

LEMMA 4.1. We have

$$\omega_0(T, T') = \delta_{|T \cup T'|, 1}.$$

**Proof.** This follows from the fact that the clustering functions of multiplicative clustering operators are uniquely determined by their matrix elements [8].

Differentiating the formula (2.1) for  $\mathcal{F}_t$  at  $t = 0$  and using Lemma 4.1 we obtain the formula (2.5). Hence one only needs to prove the estimate (2.6). But this follows from the Cauchy formula

$$\omega^H(T, T') = \frac{\partial}{\partial t} \omega_t(T, T') \Big|_{t=0} = \frac{1}{2\pi i} \oint_{|t|=r} \frac{\omega_t(T, T')}{t^2} dt$$

and the estimate (2.4). Theorem 1(b) is proved.

**5. Proof of Theorem 2.** Denote by  $D$  the diagonal part and by  $V$  the off diagonal part of  $\mathcal{F}$ :

$$D\psi(T) = \lambda^{|T|} \psi(T), \quad V = \mathcal{F} - D.$$

Assume that  $\psi \in \mathcal{H}$  is an eigenfunction of  $\mathcal{F}$  with eigenvalue 0. Then

$$\mathcal{F}\psi = D(\text{id} + D^{-1}V)\psi = 0.$$

LEMMA 5.1. *We have*

$$\|D^{-1}V\| \leq \text{const } \beta(1-\lambda)$$

with const independent of  $\beta$  and  $\lambda$  provided  $\beta/\lambda$  is sufficiently small.

From this lemma it immediately follows that  $\psi = 0$ , which completes the proof of Theorem 2.

**Proof of Lemma 5.1.** We use the results of [6.1]. It is easy to see that the operator  $D^{-1}V$  is clustering (i.e. is of the form (2.1) with  $\prod \omega(L_i, L_i)$  replaced with  $\tilde{\omega}((L_1, L_1), \dots, (L_s, L_s))$ , where  $\tilde{\omega} = \tilde{\omega}^{D^{-1}V}$  is some translation invariant function of  $s$  arguments, [6, 8]). The clustering functions of  $D^{-1}V$  are

$$\tilde{\omega}(\{x_1\}, \{x_1\}), \dots, (\{x_s\}, \{x_s\}) = 0,$$

$$\tilde{\omega}((L_1, L_1), \dots, (L_s, L_s)) = \prod \lambda^{-|L_i|} \omega^{\mathcal{F}}(L_i, L_i) \quad \text{if } \prod |L_i \cup L_i| > 1,$$

and satisfy the estimate

$$|\tilde{\omega}((L_1, L_1), \dots, (L_s, L_s))| \leq \prod \text{const } \lambda(1-\lambda)(\beta/\lambda)^{d_{L_i \cup L_i}}.$$

Denote by  $P_n$  the orthogonal projection of  $\mathcal{H}$  onto  $\{f: f(T) = 0 \text{ if } |T| \neq n\}$ . Then from the results of [6.1] (Corollary 1 from Lemma 2.2) we have

$$\|P_n D^{-1} V P_m\| \leq \text{const } \lambda(1-\lambda) \begin{cases} (C\beta/\lambda)^{\max(m,n)} & \text{if } m > 0, n > 0, \\ 0 & \text{if } m = 0 \text{ or } n = 0. \end{cases}$$

From this we obtain

$$\begin{aligned} \|D^{-1}V\| &\leq \frac{1}{2} \sup_n \sum_m \|P_n D^{-1} V P_m\| + \frac{1}{2} \sup_m \sum_n \|P_n D^{-1} V P_m\| \\ &\leq \text{const } \lambda(1-\lambda) \beta/\lambda. \end{aligned}$$

Lemma 5.1 is proved.

**Appendix. Proof of Lemma 3.3.** (a) We first prove the formula (3.13). It is easy to see that it is enough to show the identity

$$\begin{aligned} \text{(A.1)} \quad & \sum_{i=1}^{k+1} (-1)^i x_i^m \prod_{\substack{1 \leq r < s \leq k+1 \\ r, s \neq i}} (x_r - x_s) \\ &= \begin{cases} 0 & \text{if } m < k, \\ \prod_{1 \leq i < j \leq k+1} (x_i - x_j) [\sum x_1^{\alpha_1} \dots x_{k+1}^{\alpha_{k+1}}] & \text{if } m \geq k, \end{cases} \end{aligned}$$

where the sum is over all  $\alpha_1 \geq 0, \dots, \alpha_{k+1} \geq 0$  with  $\sum \alpha_i = m - k$ .

From the Vandermonde formula it follows that the left side of (A.1) is

$$\text{(A.2)} \quad \det \begin{bmatrix} x_1^m & x_1^{k-1} & \dots & x_1 & 1 \\ x_2^m & x_2^{k-1} & \dots & x_2 & 1 \\ \dots & \dots & \dots & \dots & \dots \\ x_{k+1}^m & x_{k+1}^{k-1} & \dots & x_{k+1} & 1 \end{bmatrix}$$

and that

$$\text{(A.3)} \quad \prod_{1 \leq i < j \leq k+1} (x_i - x_j) = \det \begin{bmatrix} x_1^k & x_1^{k-1} & \dots & x_1 & 1 \\ \dots & \dots & \dots & \dots & \dots \\ x_{k+1}^k & x_{k+1}^{k-1} & \dots & x_{k+1} & 1 \end{bmatrix}.$$

If  $m < k$  then (A.1) follows from the fact that in (A.2) two columns are equal. The case  $m = k$  is also obvious.

To consider the case  $m > k$  we compute the coefficient  $a_\beta$  of the monomial

$$x^\beta = x_1^{\beta_1} \dots x_{k+1}^{\beta_{k+1}}, \quad \sum \beta_i = m + k(k-1)/2,$$

in the expansion of the right-hand side of (A.1). The contribution to  $a_\beta$  from (A.3) comes only from monomials  $x^\alpha = x_1^{\alpha_1} \dots x_{k+1}^{\alpha_{k+1}}$  with  $\alpha_i \leq \beta_i$ . Each such monomial is multiplied by a unique monomial  $x^{\beta-\alpha}$  with coefficient 1 coming from  $\sum x^\alpha$  in (A.1). From this one can easily see that

$$\text{(A.4)} \quad a_\beta = \det \begin{bmatrix} 0 \dots 0 & 1 \dots 1 \\ \dots & \dots \\ 0 \dots 0 & 1 \dots 1 \end{bmatrix} \begin{matrix} (\beta_1 \text{ zeros}) \\ (\beta_{k+1} \text{ zeros}) \end{matrix}.$$

Now,  $a_p = \text{sign } \pi$  if there exists a permutation  $\pi$  of rows of the above matrix leading to

$$\begin{bmatrix} 1 & & 1 \\ & \ddots & \\ 0 & & 1 \end{bmatrix},$$

and 0 in other cases. But these coefficients coincide with those of (A.2), which completes the proof of the formula (3.13).

(b) If  $r_i \neq r_j$  for  $i \neq j$  then the estimate (3.14) for  $\text{Re}(at) \geq 1$  is obvious, and when  $|at| \leq 1$  one can use the Cauchy formula

$$t^{-k} f(t) = \frac{1}{2\pi i} \oint_{|\zeta|=2} \frac{(\zeta/a)^{-k} f(\zeta/a)}{\zeta - at} d\zeta.$$

The difficulty appears when some  $r_i$  and  $r_j$  coincide. Consider first the case  $\text{Re}(at) \geq 1$ . Assume that  $r_1 = r_2 = \dots = r_{l+1} = r$  and  $r_i \neq r_j$  in other cases (other groups of coinciding  $r$ 's are considered analogously). We use the Cauchy formula

$$\begin{aligned} \text{(A.5)} \quad f(t) &= a^{-k} \left( \frac{1}{2\pi i} \right)^l \oint_{|\zeta_2 - r| = 1/(3l)} \oint_{|\zeta_3 - r| = 2/(3l)} \dots \oint_{|\zeta_{l+1} - r| = 1/3} \frac{d\zeta_2 \dots d\zeta_{l+1}}{\prod (\zeta_i - r)} \\ &\times \left\{ \frac{e^{-atr_1}}{\prod_{i=2}^{l+1} (r - \zeta_i) \prod_{j>l+1} (r - r_j)} + \sum_{i=2}^{l+1} \frac{e^{-at\zeta_i}}{\prod (\zeta_i - \zeta_j) \prod (\zeta_i - r_j)} \right. \\ &\quad \left. + \sum_{i>l+1} \frac{e^{-atr_i}}{\prod (r_i - \zeta_j) \prod (r_i - r_j)} \right\}. \end{aligned}$$

We have the following estimates:

$$\begin{aligned} |\zeta_i - \zeta_j| &\geq |i - j|/(3l), \\ \text{(A.6)} \quad |r_i - \zeta_j| &\geq \frac{2}{3} \quad \text{for } i > l+1, \\ C_1^l &\leq \prod_{i=1}^{l+1} i/(3l) = (l+1)!(3l)^{-l-1} \leq C_2^l. \end{aligned}$$

From (A.5) and (A.6) the estimate (3.14) for  $\text{Re}(at) \geq 1$  can be easily obtained. The case  $|at| < 1$  is treated as before. Lemma 3.3 is proved.

## References

- [1] F. Abdulla-Zade, R. A. Minlos and S. K. Pogossyan, *Cluster estimates for Gibbs random fields and some of their applications*, in: Multi-Component Systems, R. L. Dobrushin and Ya. G. Sinai (eds.), 6 (1980), 1–36.
- [2] K. Fredenhagen, *On the existence of the real time evolution in euclidean lattice gauge theories*, Comm. Math. Phys. 101 (1985), 579–587.
- [3] I. A. Kashapov and V. A. Malyshev, *Complete cluster expansion and spectrum of the Hamiltonian for lattice fermion models*, Selecta Math. Soviet. 3 (2) (1983/84), 151–181.
- [4] V. A. Malyshev, *Cluster expansions in lattice models of statistical physics and quantum field theory*, Uspekhi Mat. Nauk 35 (2) (1980), 3–53.
- [5] —, *Uniform cluster estimates for lattice models*, Comm. Math. Phys. 64 (1979), 131–157.
- [6] V. A. Malyshev and R. A. Minlos, *Invariant subspaces of clustering operators*, I, J. Statist. Phys. 21 (1979), 231–242; II, Comm. Math. Phys. 82 (1981), 211–226.
- [7] —, —, *Multiplicative and additive cluster expansions for the evolution of quantum spin systems in the ground state*, Phys. Lett. 86A (1982), 405–406.
- [8] —, —, *Clustering operators*, Trudy Sem. Petrovsk. 9 (1983), 63–80 (in Russian).
- [9] R. A. Minlos and Ya. G. Sinai, *Investigation of the spectra of stochastic operators arising in the lattice model of gas*, Teoret. Mat. Fiz. 2 (1970), 167–176 (in Russian).

INSTYTUT MATEMATYKI UNIWERSYTETU WARSZAWSKIEGO  
INSTITUTE OF MATHEMATICS, WARSAW UNIVERSITY  
PKiN IX p., 00-901 Warszawa, Poland

Received March 3, 1985

Revised version December 11, 1986

(2040)